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8.5 Hydration of Alkenes: Chap 11
Addition of H2O by Hydroboration

8.12 and 13: Stereochemistry of addition

reactions
Chap 11

(19) Second Class from Today Third Class from Today
Chap 11 Last Exam

Please hand in (or email) reworked test 2 today.



Hydration of Alkenes: Addition of H-O by Hydroboration Section 8.5
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2. NaOH H202 HQO
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More on Stereochemistry <H3 ~ & H Section 8.12, 8.13
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eletrophile initiates
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Reactions (predict major products): Remember to indicate stereochemistry
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Reactions (predict major products) Practice
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Reactions (predict major products): : Remember to indicate stereochemistry
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Reactions (predict major products): Remember to indicate stereochemistry
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Reactions (predict major products): Remember to indicate stereochemistry
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